RV AF 2025 FMTARERE—STEEE FHZE

1 106765000004106 EXtEE 016 R TEFR 0828J1 Rz TESERE 02 =[8% 276 77.40 64.08
2 106765000004105 D5 016 HERTEFR 0828J1 B2 TRSERE 04 =H# 243 76.80 59.88
3 106765000004103 =E; 016 HERTEFR 0828J1 B2 TRSERE 03 =H# 241 74.60 58.76
4 106765000004165 BFm 016 ERTEFR 125601 TiEEHE 00 E=k 208 82.47 74.59
5 106765000004181 KRR 016 HERTEFR 125601 TiEEHE 00 E=k 176 80.77 67.51
6 106765000004159 ZE% 016 HERNTEFR 125601 TiEEHE 00 =H# 185 73.20 66.28
7 106765000004172 B 016 HERTEFR 125601 TiEEHE 00 =[8# 160 78.37 63.35
8 106765000004187 D/ BYES 016 HERTEFR 125601 TiEEHE 00 E=k] 154 80.03 62.81
9 106765000004157 EiE3E 016 ERTEFR 125601 TiEEHE 00 E=k] 157 78.43 62.77
10 106765000004174 ZFER 016 HERTEFR 125601 TiEEHE 00 E=k] 162 74.50 62.20
11 106765000004185 = 016 HERNTEFR 125601 TiEEHE 00 =H# 156 77.50 62.20
12 106765000004177 HEF 016 HERTEFR 125601 TiEEHE 00 E=k 157 76.87 62.15
13 106765000004186 GIEi=3E 016 ERTEFR 125601 TEERE 00 =H# 162 74.13 62.05 66 65
14 106765000004272 IKiktZ 016 HERTEFR 125601 TiEEHE 00 F=B# 158 79.73 63.49
15 106765000004237 Bt 016 HERTEFR 125601 TiEERE 00 =SSk 156 78.87 62.75
16 106765000004280 BET 016 ERTEFR 125601 TiEEHE 00 F=HH 162 76.40 62.96
17 106765000004256 A= 016 HERTEFR 125601 TiEEHE 00 F=HH 162 76.17 62.87
18 106765000004194 FhEgEE 016 R TEFR 125602 mEEE 00 E=k] 168 82.13 66.45
19 106765000004192 fAIZRAX 016 ERTEFR 125602 mEEE 00 E=k 165 76.13 63.45
20 106765000004291 EXHNAN 016 HERTEFR 125602 mEEE 00 E| == Sk 161 79.50 64.00
21 106765000004288 FEHR 016 ERTEFR 125602 mEEE 00 F=B# 153 78.30 61.92
22 106765000004124 FiETE 016 HERTEFR 095137 RIVER 00 ES=k 376 89.93 81.09
23 106765000004111 SRAREE 016 HERTEFR 095137 R ETR 00 E=k 343 75.53 71.37
24 106765000004146 PRI 016 ERTEFR 095137 R ETE 00 E=k] 304 80.73 68.77
25 106765000004135 BHERE 016 HERTEFR 095137 R ETR 00 E=k] 304 79.47 68.27
26 106765000004141 28 016 HERTEFR 095137 AV ER 00 =[8% 305 76.73 67.29
27 106765000004136 SHIE= 016 HERTEFR 095137 RIER 00 E=k] 274 84.33 66.61
28 106765000004149 [R#XI8 016 HERTEFR 095137 RIVER 00 E=k] 294 75.07 65.31
29 106765000004153 R 016 HERTEFR 095137 RIVETR 00 ES=k] 285 77.00 65.00
30 106765000004154 4 016 HERTEFR 095137 RIVER 00 E=k 278 77.53 64.37
31 106765000004145 EI5 016 HERTEFR 095137 RIVER 00 E=k 280 76.80 64.32
32 106765000004228 mil 016 HERTEFR 095137 R EE 00 =Sk 320 85.47 72.59
33 106765000004225 E—ER 016 HERTEFR 095137 AER 00 F=HH 273 80.20 64.84
34 106765000004199 Fihish 016 HERTEFR 095137 AVER 00 F=HH 267 78.27 63.35
35 106765000004230 X 016 HERNTEFR 095137 RIVER 00 F=BH 270 70.40 60.56
36 106765000004215 FEIR 016 HERTEFR 095137 RIVEER 00 E| == Sk 258 74.00 60.56 65 65




